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PART A — (10  1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. •u¾hß J¨¤køP°À, EøÇ¨¤ß CÖv{ø» 
EØ£zv vÓß ————— C¸UQÓx.  

 (A) SøÓÁõP  (B) AvP©õP 

 (C) Gvº©øÓ¯õP (D) §äâ¯©õP 

 When compared to capital, marginal productivity 
of labour is —————. 

 (a) less   (b) high 

 (c) negative  (d) zero 
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2. öuõÈØ\õø» £o¯õÍºPÒ ö£¸®£õ¾®  
————— Á¸QßÓÚº. 

 (A) |Pμ[PÎ¼¸¢x 

 (B) Qμõ©[PÎ¼¸¢x 

 (C) öÁÎ|õkPÎ¼¸¢x 

 (D) ¤Ó ©õ{»[PÎ¼¸¢x 

 The industrial workers are mainly from  
—————. 

 (a) towns  (b) villages 

 (c) foreign countries (d) other states 

3. AøÚzx C¢v¯ öuõÈØ\[P Tmhø©¨¦  
—————B® Bsk E¸ÁõUP¨£mhx. 

 (A) 1900   (B) 1910 

 (C) 1920   (D) 1930 

 All India Trade Union Congress was formed in the 
year —————. 

 (a) 1900   (b) 1910 

 (c) 1920   (d) 1930 

4. Tmk¨ ÷£μzvÀ ————— ÁøPPÒ EÒÍÚ. 

 (A) Cμsk  (B) ‰ßÖ 

 (C) I¢x   (D) |õßS 

 There are ————— types of collective 
bargaining. 

 (a) two   (b) three 

 (c) five   (d) four 
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5. £o¯õÍºPÒ u[PÎß ————— ‰»® 
÷©»õsø©°À £[S ö£ÖQßÓÚº. 

 (A) Tmk¨ ÷£μzvß (B) ¤μv{vPÎß 

 (C) £oPÎß  (D) EØ£zv vÓÛß 

 Workers participate in management through their 
—————. 

 (a) collective bargaining 

 (b) representatives 

 (c) functions 

 (d) productivity 

6. G[öPÀ»õ® ————— öuõÈ»õÍºPÐUS ÷©À 
EÒÍÚ÷μõ A[öPÀ»õ® £oU SÊ 
Aø©UP¨£h»õ®. 

 (A) 10   (B) 50 

 (C) 100   (D) 80 

 Works Committee will be setup where there are 
more than ————— employees. 

 (a) 10   (b) 50 

 (c) 100   (d) 80 

7. £snõmk öuõÈ»õÍº Aø©¨¦, öuõÈØ\õø»¨ 
£o¯õÍºPÎß |»ß ö\¯À£õkPøÍ ————— 
ÁøPPÍõP ¤›UQßÓx. 

 (A) Cμsk  (B) ‰ßÖ 

 (C) |õßS  (D) I¢x 
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 The International Labour Organisation has 
divided the industrial workers welfare activities 
into ————— groups. 

 (a) two   (b) three 

 (c) four   (d) five 

8. ¤ßÁ¸ÁÚÁØÖÒ Gx ¦Ó öuõÈ»õÍº |»ß Á\vUS 

|À» GkzxUPõmhõS®?  

 (A) ]ØÖska \õø» (B) Põ¨£P® 

 (C) •u¾uÂ Á\v (D) Ãmk Á\v 

 Which one of the following is a best example for 
extra mutual welfare facility? 

 (a) canteen  (b) creches 

 (c) first aid facility (d) housing 

9. öuõÈ»õÍº CÇ¨¥ka \mh® —————B® 

Bsk AÔ•P¨£kzu¨£mhx. 

 (A) 1923   (B) 1925 

 (C) 1932   (D) 1952  

 Workers Compensation Act was introduced in the 
year —————. 

 (a) 1923   (b) 1925 

 (c) 1932   (d) 1952  

[P.T.O.]
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10. C.Gì.I. vmh® ————— •u¼À 

öuõh[P¨£mhx.  

 (A) Põß§›À  (B) öPõÀPzuõÂÀ 

 (C) ]ÁPõ]°À (D) ©xøμ°À 

 ESI Scheme was first started in —————. 

 (a) Kanpur  (b) Kolkatta 

 (c) Sivakasi  (d) Madurai 

PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 250 words. 

11. (A) C¢v¯ EøÇ¨£õÍºPÎß C¯À¦PøÍ 

ÂÍUSP. 

  Explain the characteristics of Indian 
Labours. 

Or 

 (B) EøÇ¨£õÍº vÓß – J¸ ]Ö SÔ¨¦ GÊxP. 

  Write a short note on labour efficiency. 

12. (A) öuõÈØ\[P[PÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

  What are the different types of trade unions? 

Or 
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 (B) öuõÈØ uPμõÖ Gß£uß ö£õ¸Ò ¯õx? Auß 
£À÷ÁÖ ÁiÁ[PÒ ¯õøÁ? 

  What is meant by industrial dispute? What 
are its different forms? 

13. (A) £oU SÊÂß ¤μuõÚ £oPøÍ ÂÍUSP. 

  Explain the main functions of works 
committee. 

Or 

 (B) öuõÈ»õÍº PÀÂ°ß ÷|õUP[PÍ ¯õøÁ? 

  What are the objectives of workers 
education? 

14. (A) öuõÈ»õÍº |»ß – J¸ SÔ¨¦ GÊxP. 

  Write a note on labour welfare. 

Or 

 (B) £ßÚõmk EøÇ¨£õÍº Aø©¨¤ß 
SÔU÷PõÒPøÍ ÂÍUSP. 

  Explain the aims of International Labour 
Organisation. 

15. (A) öuõÈ»õÍº CÇ¨¥k \mh® – ÂÍUSP. 

  Explain Worker’s Compensation Act. 

Or 

 (B) \‰PU Põ¨¥miß |À¼¯À¦PøÍU TÖP. 

  State the characteristic features of Social 
Insurance. 
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PART C — (5  8 = 40 marks) 
Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 600 words. 

16. (A) ¦»®ö£¯ºu¾UPõÚ £À÷ÁÖ Põμn[PøÍ 
ÂÁõv. 

  Discuss the various causes for migration. 

Or 

 (B) EøÇ¨¤ß vÓøÚ {ºn°UQßÓ PõμoPøÍ 
ÂÍUSP. 

  Explain the factors that determine labour 
efficiency. 

17. (A) öuõÈØ \[P[PÎß £oPøÍ Bμõ´P.  

  Analyse the functions of trade unions. 

Or 

 (B) Tmk¨ ÷£μzvß ö\¯À•øÓ°øÚ ÂÍUSP. 

  Explain the process of collective bargaining. 

18. (A) Cøn ÷©»õsø©a \ø£°ß ö\¯À£õkPøÍ 
SÔ¨¤kP. 

  Point out the activities of joint management 
council. 

Or 

 (B) C¢v¯õÂÀ ÷©»õsø©°À öuõÈ»õÍº 
£[÷PØ¤øÚ ÂÁõv. 

  Discuss the workers participation in 
management in India. 
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19. (A) öuõÈ»õÍº |»Ûß £μ¨ö£Àø»°øÚ ÂÁ›. 

  Describe the scope of labour welfare. 
Or 

 (B) £ßÚõmk EøÇ¨£õÍº Aø©¨¤ß £oPøÍ 
ÂÍUSP. 

  Explain the functions of International 
Labour Organisation. 

20. (A) ESI – vmhzvß |À¼¯À¦PøÍ Bμõ´P. 

  Analyse the salient features of ESI scheme. 
Or 

 (B) C¢v¯õÂÀ Pøh¨¤iUP¨£kQßÓ \‰P 
£õxPõ¨¦ |hÁiUøPPøÍ ÂÍUSP. 

  Explain the Social Security measures 
adopted in India. 

—————— 


